Lecture 4 - Sep. 17
Review of OOP

Reference Aliasing & Primitive Arrays
Ref-Typed Parameters vs. Return Values



Announcements/Reminders

e LabOP2 due this Friday at 12 noon!

e Labl to be released after LabOP2 is due. 5 Voot C ] L
o Priorj}y: LabOP2 (tutorial videos +\PDF IR F
e This Thursday's office hour will be re-scheduled.




Copying_Primitive Values

I¢ # (=0

int i1 = 1; & .
_Aint 12 = 2; n2{dl = nilels
int i3 = 3; /]
2 int [] F)umbersll= @ é, é; 2AJ TIL Z=-'-I
At | | numbers? = new int[numbersl.lengthl; =
for(int i = 0; |1 < numbersl.length; i ++) }’IZ(I:]: /1)01"'
‘anumbers2[i] = numbersl[i];
}

Yol .75
umbersl@ = &y “Lci(f ¢ '2

System.out.println(numbersl[0]); WZ(Z]-—- O

System.out.println(numbers2[0]




Copying_Reference Values: Aliasing | D)y pﬂf( pll'

wdss of akby
| Person ...-- Brir-mm;m; . ’ bty | rmt(P/OJ)
rson tom i new Person("Tom") ; llelsoﬂ ] 7.—_ @?l L—? wel

g D An ("2 AN .

on m ne on ("Jim") : i g T2 ".' ?"“}7" ©
R Person[] = n qc l. R pla/p s '«0
Person new Person|[personsl.leng « d
j [ i . length;
' ersonsz[1i] = personsl[i]) k
g cersonsliT0] . setAge (70); e\ ma’ m _‘tg_“j—w
System.out.println(jim.getAge()); ‘w
System.out.println(alan.getlAge()); Person Person Person
System.out.println(persons2[0].getAge()); name M name |’} name “]"Ar
personsl[0] = jim; age 0 age i
persons1[0].setAge(75);

,’
System.out.println(alan.getAge()); JM /\

(7
System.out.println(jim.getAge());

(
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System.out.println(persons2[0].getAge()); na::rsor:,JZr
Y[ (t==0): |72 [’OJ:'_ YI (od; e || |2
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lids (‘C::ZYVZ (z] = yl 2] =L
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Person alan = new Person("Alan");
Person mark = new Person("Mark");
Person tom = new Person("Tom");

Person jim = new Person("Jim");
Person|[] personsl = {alan, mark, tom};

Person|[] persons2 = new Person|[personsl.length];

for(int i = 0; i < personsl.length; 1 ++) {
IpersonsZ[i] = personsl[i];l}
personsl[0].setAge(70);
System.out.println(jim.getAge());
System.out. prlntln(alan.getAge());

§ystem.o s PEL (persons2[0] .getAge());
cersons$[0 >= iim;
personsl [-‘5.] . setAde(75),

(7
System.out.println(sim.getAge());
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System.out.println(alan.getAge());
System.out.println(personsZ|0].getAge());
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Arrays and Aliasing
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Reference-Typed Return Values Slide 53
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public class Point { .‘Kl (2..!‘, 783

/* A mutator modifying the context Point object */

/public void moveUp (int)Oé

> X




